Total Questions: 100

Attempted Questions: 100

Marks Obtained: 49

Correct Answers: 49, Q5 Q11 Q17

Q20 Q23 Q24 Q26 Q28 Q29 Q30
Q31 Q34 Q36 Q37 Q38 Q39 Q40
Q43 Q44 Q45 Q49 Q52 Q53 Q54
Q56 Q58 Q59 Q60 Q61 Q62 Q65
Q66 Q68 Q69 Q70 Q72 Q73 Q74
Q76 Q77 Q81 Q84 Q85 Q89 Q93

Un-attempted Questions: 0

Wrong Answers: 51, Q1 Q2 Q3 Q4

Q6 Q7 Q8 Q9 Q10 Q12 Q13 Q14
Q15 Q16 Q18 Q19 Q21 Q22 Q25
Q27 Q32 Q33 Q35 Q41 Q42 Q46
Q47 Q48 Q50 Q51 Q55 Q57 Q63
Q64 Q67 Q71 Q75 Q78 Q79 Q80
Q82 Q83 Q86 Q87 Q88 Q90 Q91

Q94 Q97 Q98 Q100 Q92 095 Q96 Q99
Q1
Choose the One Word Substitution for: A speech made to oneself
A .
Soliloguy
B Eloquent
C
Solitary
D
Dialogue
RESPONSE B - WRONG Answer Key : A
Q2
The bodies identified as those of two suspected drug dealers.
A had
B have




C was
D were
RESPONSE C - WRONG Answer Key : D
Q3
Which adjective describes a person who is skilled at persuasion and manipulation?
A Garrulous
B Pernicious
C Malleable
D Machiavellian
RESPONSE B - WRONG Answer Key : D
Q4
Choose the correct Antonym for: Accessible
A attainable
B stressed
C reachable




restricted
RESPONSE B - WRONG Answer Key : D
Q5
What is the phrasal verb that means "To be completely surprised or shocked"?
A Hit the roof
B Fall off your chair
C
Be unruffled
D Drop your jaw
RESPONSE B - CORRECT Answer Key : B
Q6 Choose the correct meaning of theidiom : Tit for tat
A To do harm as done to you
B

To make someone angry

To reward people for the good done




To take advantage of someone

RESPONSE B - WRONG Answer Key : A
Q7

Spot the error in following sentence: Torrential rains and winds of up to 170 km per hour

swept away roads, homes and bridges and knocking down power and communication
lines

A homes and bridges

B winds of upto

C swept away roads

D Knocking down

RESPONSE B - WRONG Answer Key : D
Q8
Choose the correct Synonym for Persuade

A dissuade

B argue

C

mislead




D convince
RESPONSE B - WRONG Answer Key : D
Q9
Spot the error in following sentence : It takes me a hour to reach the temple
A me a hour
B It takes
c the temple
D to reach
RESPONSE B - WRONG Answer Key : A
Q10 4
Choose the correct Synonym for Entice
A
entail
B
ensue
C
entrap
D
enrage
RESPONSE B - WRONG Answer Key : C




Q11
In the sentence, "Please give the book to Jane or ," what pronoun should fill the
blank?
A mine
B me
c |
D my
RESPONSE B - CORRECT Answer Key : B
Q12
Select the correctly spelt word?
A Benigne
B Benine
c Benign
D Bennine
RESPONSE D - WRONG Answer Key : C
13
Q Choose the One Word Substitution for: Statement open to more than one interpretation
A
Ambidextrous




B Ambrosial

¢ Ambiguous

D
Ambushed

RESPONSE B - WRONG __Answer Key : C
Q14

It is believed by the doctors that she will soon recover .The other form of voice is------ ?

A ‘ :
The doctors believe that she will soon recover.,

B The doctors believe that she would soon recover.

Cc The doctors are believing that she will soon recover.

D The doctors have believed that she is soon recovering.

RESPONSE B - WRONG ' Answer Key : A
Q15

A tiny uninhabited island, one of the 1190 that constitute the republic of Maldives,
disappeared into the sea, raising speculation among scientists about onset of global
warming. The islands constituting the Maldives rise barely two to four metres above the
sea level. Various scientific studies had identified the Maldives and Bangladesh as the
most prone to floods due to predicted rise in sea level caused by one or two degree
Celsius increase in the earth’s temperature. The Maldives case has aroused considerable
curiosity among scientists due to the predicted vulnerability of the islands to minute
changes in the global weather system. Further, the Maldives already face serious
environmental degradation, mainly because of high population density on the few
inhabited islands. This Maldives capital Male is an extreme case, with a population
density of more than 30000 people per square kilometres. Read carefully, the above
passage and answer the following question using the given optiuons. These Islands are
prone to flooding because..................




A of the rise in sea level.
B nobody is there to control flood.
C they are insecure,
D they have no human being.
RESPONSE B - WRONG Answer Key : A
Q16
Select the wrongly spelt word?
A alliance
B attendance
c affluance
D affiliate
RESPONSE D - WRONG Answer Key : C
Q17
The entered the house in disguise saying his uncle lived there and robbed
the place.
A
technique
B

technician




C technicality
D technical
RESPONSE B - CORRECT Answer Key : B
Q18
Identify the word that is incorrectly spelt
A exhilaration
B recalcitrant
c conscientious
D idiosyncracy
RESPONSE B - WRONG Answer Key : D
Q19
Choose the correct meaning of the idiom: bent out of shape
A behind bars
B very famous
C to be upset




D shapeless
RESPONSE B - WRONG Answer Key : C
Q20
Choose the correct Synonym for Weary
A
Touchy
B
Lively
C
Exhausted
D Restless
RESPONSE C - CORRECT Answer Key : C
Q21
Choose the correct meaning of the idiom: costs an arm and a leg
A rarely available
B easy to obtain

nothing to lose




very expensive

RESPONSE B - WRONG Answer Key : D
Q22 Spot the error in following sentence: You may left the class when you have completed
the test
A the class
B completed the test
C You may left
D when you have
RESPONSE B - WRONG Answer Key : C
Q23
Plenty of information about the flora and fauna of India available in this book.
A
are
B
is
C
were
D
has
RESPONSE B - CORRECT Answer Key : B




Q24

Choose the One Word Substitution for : A large building or group of buildings used to
house soldiers

A dormitory
B
guarters
C barracks
D fort
RESPONSE C - CORRECT Answer Key : C
Q25

Which word is a synonym for "happiness"?

A
loy
B
Sorrow
C
Misery
D Sadness
RESPONSE D - WRONG Answer Key : A
Q26

<ereeeee 15 DO @ standard of critical writing

e ST TG BT YR TR




A
precision / Lesedl
B
vaguenes / SEOPd[
C
relevance / TGl
D
clarity / ¥I¥dl
RESPONSE B - CORRECT Answer Key : B
Q27
If each of the digits in the number 92581473 is arranged in ascending order, what will be
the difference between the digits which are fourth from the right and third from left in
the new arrangement? The ascending order of the number is 123456789.
Jfe W 92581473 F YA 3 B HRIE) 61 B afed & 9 &, ot 78 sawn
STE Y Y SR Y Y TR R R G 1l 3HebT &b ot B SR 1 8112 F&1 BT
3TRIE 1 123456789 B |
A
1/1
B 4/4
C
2/2
D
3/3
RESPONSE C - WRONG Answer Key : D
Q28 In a certain code language, 'so it be' is written as 'lor kor nor', 'it is done' is written as 'zor
kor tor', and 'be yourself' is written as 'nor xor'. How will 'so’ be written in that language?
WW? 1-|T'5|Tff, 'so it be' &1 'lor kor nor' ﬁ?@rﬂfﬂa 'it is done' @I 'zor kor tor’
oI ST 8, 3R 'be yourself' @Y 'nor xor' fERaT ST 81 3 HIWT H 'so’ BT S farar
A nor / nor
B kor / kor
c lor / lor
D
xor [ xor
RESPONSE C - CORRECT Answer Key : C




Q29 Choose the correct order of the given alternative: a _cacbc _baca_ _b

mwﬁaﬁﬁﬂﬁﬁqﬁq :a_cacbc_baca__b

A
babc / babc
B
baba / baba
c abac / abac
D cacb / cacb
RESPONSE A - CORRECT Answer Key : A
Q30 If a rectangle has a length of 8 units and a width of 4 units, what is its perimeter?

I U Sad & 8 SIS B AaTS 3R 4 SHT P AT 8, Al 39! URR FT 22

A 12 units / 12 g

B 24 units / 24 g

c 16 units / 16 JAC

D 32 units / 32 g
RESPONSE B - CORRECT Answer Key : B
Q31

PSQR, P4QS, P3QT, , P1QV
P5QR, P4QS, P3QT, , P1QV

A
PQ3U / PQ3U

B
PQW / PQW

C
P2QuU / P2QU

D
PQV2 / PQV2

RESPONSE C - CORRECT Answer Key : C
Q32 The definition of a wreck is something that has been destroyed or badly damaged or a

person who is upset or in poor health. Which of the following situations is the best
example of a wreck?
U HAd B GRHTST U U1 1ot § ford 3 &= o wan & o1 531 ok 9§ affaoe g1 man
B U1 TS Jfa o IRRIH € a1 WRE W | ¢ | Fafafed & 3 o W fRufaat oas &1
Ty 33T 3B 82

A

John is responsible for his 10-year-long relationship with Julie to fall apart and destroyed.

/ ST STt @ WY 39 10 I 79 R & g iR A9 811 & fore fonier 81




B District authorities have closed cafes, tourists’ spots, cinemas to empower the local
economies. / fraT sftreTRET 7 R srferawnsit & wxed s & fag &,
yfed & yad, ARl @) 9 R fear g1

c John’s car hit the barricade, and its right headlight was damaged. fﬁfﬁaﬂ HR A ARFS
FI AR, AR 3qD! g1 eedrse dfRd gl 5|

D The differences between their opinions are due to their differing conceptions of Ged and
their relation to the world, / ST 0 & &1F BT 3R ITh1 SHR P 3T -
YROT3T 3R gfrar ¥ I Ty b HRU BT |

RESPONSE B - WRONG Answer Key : C
Q33
Freud believed pretend play for children functioned to help children:
WIS &1 HAAT YT [ Sl 1 Hag B & [ TH DA aIdd dadl o [0Y ATed Qe

A .
reduce anxiety and cope with real life problems /%ﬁﬂﬁﬁﬁ%@ﬂqﬂﬁ
T3 T AT B

B
develop cognitive and social skills / GTHTHE® SR ATorS HIrd b Rid &3

C
express feelings and impulses through symbols / Tdeh! o ATEAH T HIG137 3R My
P T B

D
enjoy an altered state of reality where they could practice emotions fa’r{aﬁwaﬁw

fRufer 1 311eic; o wigT @ TS BT 31TTH PR THhd &
RESPONSE D - WRONG Answer Key : A
Q34 If 'LOYAL ' is coded as 'JOWAJ' then 'PRONE' is coded as -
I 'LovAL P! JowA)' P ¥4 H Feag fFa1 S 8, O 'PRONE' $I fhd 0 & Feag
fraremarg?

A QRPNF / QRPNF

B NRMND / NRMND

c NRMNC / NRMNC

D
ORMNC / ORMNC

RESPONSE C - CORRECT Answer Key : C
Q35 The time in a clock is quarter past twelve. If the hour hand points to the East, then
towards which direction the minute hand is pointing?
T U H GHG 913 9RE 99 8idl ¢ | A HeT 31y gd 1 3R 3fid deare, dY e &
ey fr g fo=n &t SR SIRT IR W82




A South / Gf&fOT
B South-West / S&f0T af&H
c West / Uf3H
D North / 3dX
RESPONSE C - WRONG Answer Key : A
Q36 The concept of superordinate goals derives from
FR3TENe wedt Y srauRom I e gt g
A group conflicttheow[ﬂ%ﬁﬂ'ﬁfm@ia
B social conflict theory /Wﬁa?m Rrgid
c realistic conflict theory /ﬁmﬁﬂﬁ Rrgia
D behavioural conflict theaw/mﬂﬁﬁiﬁmﬁl@iﬁ
RESPONSE C - CORRECT Answer Key : C
Q37 Select a figure from amongst the Answer Figures which will continue the same series as
established by the five Problem Figures.
Problem Figures: Answer Figures:
L] [] L ] eal o | oA #
L ] L] A A 4 A + A
+ Al +al +a| + + +. 4+ +
(A) (B) (€) (D) (E) 1) @ @ @ ©®
(a) 1
(b) 2
() 3
(d) 4
TR il 7 & U i e S ol dia R smfodl gri it 3 s @ ar @
e e Iw
o ¢ o[ 04l o |0 eal o
o @ Al A Al al 4 4
+ Al +al 44 + + 4 4 o+ 4
W@ € O ® M @ 6 @4 6
(a) 1
(b) 2
(c) 3
(d) 4
A a/a
B b/b
c d/d




c/c
RESPONSE B - CORRECT Answer Key : B
Q38 EGIk: FILO :: FHJL: ?
EGIk : FILO :: FHIL: ?
A GIMP / GIMP
B JGPM / JGPM
c GMIP / GMIP
D JGMP / JGMP
RESPONSE A - CORRECT Answer Key : A
Q39 Statement: All the pencils are pens. All the pens are Inks. Conclusion: LAll the pencils are
inks. Il. Some inks are pencils.
Fy; T Ofe O B | et o st €1 e 1. et ofte @l €. . oo @l ot
|
A 5
Only | follows / BT i STIR0 HIAT &
B . a}r . %
Either | or Il follows / AT Tl i AT 11 3{THIUT HICAT
C
Only Ii follows / Had Il BT STH BT &
D ,
Both | and Il follows. / 1 3R Ilﬁa’l—[m
RESPONSE D - CORRECT Answer Key : D
40
Q Leela, who is Sohan's daughter, says to Latika, "Your mother Alka is the younger sister of
my father who is the third child of Gajanan." What is the relation of Gajanan to Latika ?
e, S Sg B 32t ©, Wit A Hedl 8, "dReRI AT 3ae IR AT I S sga g o
T B! SRR A 8 | TSI &1t o 31 Yee 82
A Uncle / Tl
B Father-in-law / g
c Father ffa?ﬁ
D Grandfather / QIcl
RESPONSE D - CORRECT Answer Key : D




Q41 Arrange the words given below in a meaningful sequence. 1. heal 2. head 3. health 4.

heap 5. heat
Fra feu U wres Y Uep e ST B afRa Y| 1. TRl 2. B 3. RH 4. TS,
Bd
A 4.3,1,2,5/4,3,1, 25
B 3.1.3.5:214,1,3,5.2
C 2,1,3,45/2,1,3,4,5
D 3,4,5,1,2/3,8,5,1,2
RESPONSE B - WRONG Answer Key : C
Q42 Which of the following statements is/are correct about average prices if the price index is
1107
e Jed Yadbid 110 § al Fgfafad 3 ¥ 19 91 Sy 3i9d S Hdl & aR | Tgl 87
A The prices have decreased by 10 per cent Jaﬁnﬁfﬁ 10 Ufard Pl HH G-I'Ié%
B None of these / 3TH T I3 g
C The prices have increased by 110 per cent fﬁﬂ?ﬁﬁ 110uﬁ|mﬁaﬂq@§§%
D The prices have increased by 10 per cent / ®IHdI H 10 Hﬁwaﬁq\?ﬁﬁ%%
RESPONSE C - WRONG Answer Key : D
43
Q Arrange the words given below in a meaningful sequence. 1. Study 2. Job 3. Examination
4. Earn 5. Apply
2 fou 7T Trec} oY U TTfep 3rehH H oaaiRyd | 1. 3T 2. A1l 3. War 4.
FHAE 5. TG B
A
1,3,54,2/1,3,5,4,2
B
1,3,5,2,4/1,3,5%:4
C 1,3,2,54/1,3,2,5,4
D
1,2,3,45/1,2,3,4,5
RESPONSE B - CORRECT Answer Key : B
Q 44

Which one does not belong to the group?

T § PIF T 9HE § Gl TE 8

A 16-24 / 16-24




B 15-23 / 15-23

19-27 / 19-27

D 13-21/13-21

RESPONSE A - CORRECT Answer Key : A

Q45 If BOX is coded as CDPQYZ, what will be the last two letters of word in the same code for
HERO ?
& pox &Y copQyYz & TU T HIfSd fGaT T, d HERO H U TH S Pe A It B
3ifer < efar S I
A P.Q/P.,Q
B N,M/N,M
c M,N/M,N
D Q.p/Q,p
RESPONSE A - CORRECT Answer Key : A
Q46 Directions: In each of the following questions a statement is given, followed by two
conclusions. Give answer: Statements: In a one day cricket match, the total runs made by
a team were 200. Out of these 160 runs were made by spinners. Conclusions: I. 80% of
the team consists of spinners. Il. The opening batsmen were spinners.
e Frafafea 3 vds vy & ve Sy R 8, 39 916 o ey g €|
TaTE &F : HY: T &7 & fohdre A o, U €11 g1 fhU 0 5 3 200 &1 37 160 3T
# A R grRi=-e 7T 81 s 80% A A FRrR 81d 1 i T seaiars fRR
|
A Either | or Il follows / TT @l i ATji SRV HAT S
B Only conclusion | fotlows!%ﬁmiﬁwm%
c Only conclusion 1l fohlows/’aﬁﬂﬁfﬁﬁfiiﬂmm%
D

Neither I nor Il follows / =1 @) i3TR T & ii maﬂm%

RESPONSE B - WRONG Answer Key : D

Q47 The most specific class in OWL is

owL H ged AR arf g

A
anonymous / 3{TH/ HFTd

B Allofthese/mﬁlﬁ

C .
equivalent / TH®PE

D

nothing /W:lﬁof




RESPONSE B - WRONG Answer Key : D
Q48 The following question, consist of two words each that have a certain relationship to

each other, followed by four lettered pairs of words. Select the lettered pair that has the
same relationship as the original pair of words: Toxin: Danger
frafafad oy o & wreg 2nfia € o & Ui &1 U gak ¥ Us ffdd dde g, 596
I1E Vs3] b IR &R TS & | 1eRl areht 39 SISt &1 9o Be fordeT e Weal ot ga
SIS &% auE g faw |

A Augury : Warning / 31TT: IdTa=t

B Knell : Death / =1dl: g

c Clarion : Battle / ¥JP: FITETQF

D Antitoxin : Cure / TCICIaRI; EGIE]

RESPONSE D - WRONG Answer Key : C
49
Q In a class of boys stands in a single line. One boy is nineteenth in order from both the

ends. How many boys are there in the class?
ASHI D1 Up HafT H I U Ui A TS & | Uh dS T o RIS A H IAI9d 8|
He T o TSP 82

A 37/37

B 27 /27

C
39/39

D e )

RESPONSE A - CORRECT

Answer Key : A




50
° Directions: Read the passage given below and choose the correct option. Passage: Not
only the smoker but individuals surrounding him/her can be harmed by tobacco smoke.
Children are put further at risk since they are three times more likely to smoke if their
parents do. As far as smokers are concerned one out of every two smokers, who start at
a young age and continue smoking throughout their lives, will ultimately be killed by
tobacco-related illness. With prolonged smoking, smokers have a death rate about three
times higher than non-smokers at all ages. Stopping smoking decreases the health risks
associated with tobacco use. It can decrease the burden of diseases such as heart or
respiratory diseases. There are clear health benefits including longer life, even for those
who quit smoking at the age of 60 and above. Assumption: Non-smokers who are victims
of passive smoking have one-third death rate as compared to smokers.

fFrder: 2 faw T e ) U ok 9Et fawey g | uivede: TWIe & YU T Faa
- T B Siewh ISP MU & AfFTa] B! it THUH 8 Jhal 8 | = &
317 ST & STe I & Riifes afe 3e HTdI-TUaT U 3 & ol 3 YHuTH
XA B GUIGAT A9 7T 31 St 8 | ST8T b YU B aTell &1 §aTdl 8, X &l
YU & aTall H 9 T, S 1 39 H YHUTH L B § AR St U= Yo ot
TEA &, 3ida: daTe J Yafad AR IR 91| < GHg deb YHUT &2 9, YuaH
HH a1 B Hg & 8 IH H YHUH A & ardl &1 qa-1 H S THIT A A1 S48 gt
B YU 9 X ¥ da1P & IUTNT ¥ 98 W SaH HH g o & | 98 gaa
T I ST STATRET & SIS B HH HR UGl ¢ | T g Gied WP WRI A §,
Tgi de fab I il & o i ot 60 Y 3R I 3ifes B Iu H YU Ble A B
YRUTT: YU 7 3 T 1l HIS6a YU & RIBR €, 378 YHUH S aTell & g

A g X & faers 8
A :
If the interference is cannot be determined. / ﬁm@ﬁﬂfﬁﬂﬁmmm%l
B
If the interference is definitely false. fﬁ?ﬁ%’qﬁ@ﬁ"@_ﬂ@"ﬁﬁ%l
C
If the interference is definitely true. /ﬁ%ﬁ%ﬂﬁ@ﬂﬂ@ﬁ%l
D
If the interference is probably false. / afe W&}q QMg TTeld %I
RESPONSE C - WRONG Answer Key : D
Q51
A mixture of 125 gallons of wine and water contains 20% of water. How much water
must be added to mixture in order to increase the percentage of water to 25% of the new
mixture?
125 T1e TRTE SR YT & fsor 7 209 T 81 71T fArgror & it &1 9faid 25% T
oM & o figpur & foamr ur fiyemar ST nfee?
A 25 gallons/ZSila:i
B

12.5 gallons / 12.5 &




25/3 gallons / 25/3 TTa

D 50ga|lon5/505|ﬂ;|
RESPONSE A - WRONG Answer Key : C
Q52
If the simple interest on Rs. 1 for 1 month is 1 paisa, then the rate per cent per annum
will be?
e 1 7819 & oY 1 $UY W GYRY 7o 1 G478, <1 Ul 9 <arel St e qr gl
A
8%/ 8%
B 6%/ 6%
C 10% / 10%
D
12% / 12%
RESPONSE D - CORRECT Answer Key : D
53
Q Find the ratio in which rice at Rs. 7.20 a kg be mixed with rice at Rs. 5.70 a kg to produce
a mixture worth Rs. 6.30 a kg?
I8 IFIUTA 1 HIfore fTH 7. 20 ¥ i fherumy arat arae &1 5.70 ¥ Ui
faraioms ara =Tae & WY e 6.30 U3 ufd et gea o1 fiygor dur fsar
oilg?
A 1348
B 3:4/3:4
C 2:3/2:3
D 4:5/4:5
RESPONSE C - CORRECT Answer Key : C




Q54

5% more is gained by selling a cow for Rs 1010 than by selling it for Rs 1000. What is the
cost price of the cow?

T 7119 Y 1000 TUL H §= BT o1 1010 T H S99 W 5% (e A 1| T

BTHY T T E?

A Rs 100 / 100 T9Y

B Rs 150 / 150 ¥UY

C Rs 250 / 250 304

D Rs 200 / 200 34U

RESPONSE D - CORRECT Answer Key : D
Q55

Ramesh and Suresh’s mud forts have heights 8 cm and 15 cm. They are 24 cm apart. How
far are the fort tops from each other?
A 3R G P WSt & el &1 Farg g At 3R 15 B 1 F 24 A R B 1 fva &
i U gE @ fobert R 72

A 24cm /24 cm

B 31cm/31cm

c 25cm /25 cm

D
20em /20 cm

RESPONSE B - WRONG Answer Key : C




Q56

Choose the alternative which maost closely resembles the water-image of the given combination.

D6Z7F4
1.D8ZAETY 2.des\d+
3.Des\AEkv 4. aex.sd+

(a)
(b)
(c)
(d)

B w N

g ey 9 9 fou o i ) ora-aid @ wed fte Mad-saa el

D6Z7F4
1.D@ZAEY 2.0eS\dt
3.DeS\EY 4. Qes/4¢
(a) 1
(b) 2
(c) 3
(d) 4
A d/d
B b/b
C clc
D afa
RESPONSE C - CORRECT Answer Key : C
Qs? The circumference of a jogging track is 735 m. Peter and Tom start walking from the
same point at the same time in opposite direction. If they are walking at 6 km/hr and 8
km/hr respectively, after how much time they will meet?
TS S ¢ 31 oRfY 735 Wex 81 diex ok 20 e 61 fig © ve & v o fawdia
s & a1 = d 8| afe A HER: 6 [l der 3ik s frdl/der S a9 @ 3,
1 9 fosc w9y a1 foreti?
A

3.15 minutes / 3.15 fHAE




B 3 minutes / 3 fiFe
C
3.12 minutes / 3.12 TBFE
D ;
4 minutes / 4 fiFe
RESPONSE C - WRONG Answer Key : A
Q58
A train, 200 metre long, is running at a speed of 54 km/hr. The time in seconds that will
be taken by train to cross a 175 metre long bridge is?
200 Hiex el U ¢, 54 fFHi/der S 1fd G aa @ g1 175 W dd JA HI IR & &
fore e g1 foba w9 (s A ) foran smam?
A 10/10
B 25/25
C 20/ 20
D 125/125
RESPONSE B - CORRECT Answer Key : B
Q59
What will be the HCF of 608, 544; 638, 783; and 425, 476 respectively?
TIRN: 608, 544;638, 783;- 3R 425, 4767 BT TYTH JHUIHD T NTI;
A 17,32,29/ 17,32,29
B 32,29,17/ 32,29,17
C
29,32,17/ 29,32,17
D 32,17,29/ 32,17,29
RESPONSE B - CORRECT Answer Key : B




Q 60
The sum of ages of 5 children born at the intervals of 3 years each is 50 years. What is the
age of the youngest child?
TS 3 I8 & ST IR ST 5 =] 1 MY 61 AN 50 T ¢ | G B 9= 1 3 T
G
A
8 years /8 HId
B ;
None of these f%ﬂﬁ@aﬁg?@
c 10 years / 10 ay
D 4years/ 4Ty
RESPONSE D - CORRECT Answer Key : D
Q61
A and B can complete a work in 2 & 3 days respectively. They complete a work together
and get Rs. 50 as the wages. How should they divide it?
A 3T B U &1 B HHT: 2 3R 3 A T Qe Tovd €1 d U 1Y U BT I T
B 3R 50 TUY U 3 & Avge] & &Y H | 3= 39 $9 fauifora s arfgee
A 1:2/1:2
B 1:3/1:3
C 3:2/3:2
D 1:5/1:5
RESPONSE C - CORRECT Answer Key : C
Q62
The contributions made by Ravi and Suresh are in the ratio of 3:2. If 5% of total profit is
donated and Ravi gets 8550 as his share of profit, what is the total profit?
3 3R =T GRT T T DG 3: 2 & U & § | afe a1 a4 BT 5% &1 fooam rar
? SR IAFT 8550 TUA A F e 8, N pa Ay T2




15000 / 15000

B 14000 / 14000
C 14500 / 14500
D 15500 / 15500
RESPONSE A - CORRECT Answer Key : A
Q63

Statement: Should there be a total ban on tobacco products and smoking in India?
Arguments: |.Yes. It is wrong to smoke away millions of money. Il.No. It will throw
thousands of workers in the tobacco industry out of employment. lll.No. The government
will lose huge amount of money as it will not earn by way of taxes on these products.

FHY: T HURT H de1d Iamal 3R g5 R gof wfiey g sifgee ab: 1. g aral
U T Y31 IS Ted | 1. TeT | T8 AT e b SR} 42! bl ISR W TTeX
BRI 51| TRBR B! YR HEATH 8 BT 41 g1 Rl a8 3 Idlal IR B

& HIEH Y FHTS Tol H|
A None is strong / PTs HI HTgd 781 @
° Only I and Il are strong / ael 11 3 111 SIS &
c Only I and Il are strong / Bad | 3R 1| ASTEd &
D

Only Il is strong / PHadl 'qﬁﬁ\?f%

RESPONSE D - WRONG ! ) Answer Key : B




Q64

Which of the following is the correct numerical value of 5 tan” A - 5 sec® A + 17

(a) -3
(b) 9
(© 5
(d) -4

fuferf@d 3 A ST UI5 tan? A - 5 sec? A + 1 BT UG H&ITHD HI 2

(a) -3
(b) 9
{c) 5
(d) -4
A d/d
B a/a
C b/b
D c/c
RESPONSE C - WRONG Answer Key : A
Q65
A company produces on an average of 500 items per month for the first 4 months. How
many items it must produce on an average per month over the next 8 month, to make
average of 1000 items per month?
TP HU Ug 4 Tl ob forg ufdl /g S 500 a¥gafl &1 IaTeH vl & | ufd 71
3T 1000 3MZEH F1F P o, RTS8 HelA1 H wfa ATg farait awgasfi &1 IdTe
P A1RT?
A 1150/ 1150
B 1250/ 1250
c 1350/ 1350
D

1550/ 1550




RESPONSE B - CORRECT Answer Key : B
66
Q 8 men can do a work in 12 days. After 6 days of work, 4 more men were engaged to finish
the work. In how many days would the remaining work be completed?
sRY 12 R A P R TFd 2| 6 ol & FTH F 9IS, 4 3R U HTH T B b
fore @ gu A1 e &t o 29 &1 Q1 81 S
A 2/2
B 5/5
c 4/4
D 3/3
RESPONSE C - CORRECT Answer Key : C
Q 67
The banker's discount on Rs. 1600 at 15% per annum is the same as true discount on Rs.
1680 for the same time and at the same rate. The time is:
1600 T TR 15% Ul T8 13X Y SR 1 Fe, T 3R I TR W 1680 ITA W
IR T & JAH & | THT ©:
A
8 months /sﬂ?ﬂe{
B 6 months / 6 AGH
c 3 months / 3 AR
D 4 months / 4 HaI1
RESPONSE B - WRONG Answer Key : D
Q68
If real time is 12:10 then what will be the mirror image of that clock?
gfe ardfde 9 12:10 € A 39 U o1 gUur ufafers o= 9wy a1 grm?
A 11:50 / 11:50




B 10:50/ 10:50

C 12:50/12:50
D 1:50/ 1:50
RESPONSE A - CORRECT Answer Key : A
Q69

Look at this series: 8, 6,9, 23, 87, ... What number should come next?

Y YA P T 8, 6, 9, 23, 87, ... 3N DI TT e AT AMRT?

A
226 /226

B
429 /429

C 128/128

D
324 /324

RESPONSE B - CORRECT Answer Key : B
70
Q Statement: The availability of imported fruits has increased in the indigenous market and

so the demand for indigenous fruits has been decreased. Courses of Action: |.To help the
indigenous producers of fruits, the Government should impose high import duty on these
fruits, even if these are not of good quality. 11.The fruit vendors should stop selling
imported fruits. So that the demand for indigenous fruits would be increased.
HYT. W IR T rarfed Bl & Sudedr H gfg 88 & 3R o We e wal @
AT HH TS § | HRIATS: 1. Bl & Wosl STGdH! Bi 7GE B b (oY, THR B 34
Wl IR I AT Yoob T AR, Wl &1 T 31 J0rah & 7 81, 11, Bt fasherrafi &
3fraTfad Bl Bl od-1 §¢ B &A1 g dlfds 33 Tl 1 AT dgls ol Hab |

A

Neither I nor Il follows / T dl | IR A& 1 mm%




Either | or Il follows / AT @ | T i1 TERUI HAT &

c Only | follows / A | TR BT &

D
Only I follows / BT 11 T STV HIT &

RESPONSE A - CORRECT Answer Key : A
Q71

How many metres of carpet 63 cm wide will be required to cover the floor'of a room 14
metres by 9 metres?
14 HIeR x 9 HieT & U HHY P B2 &l b & oIy 63 THT 1S fhas Hiex Srei ot
STIRGH ] Eillil?

A 185 metres / 185 HIZY

B 200 metres / 200 e

C
210 metres / 210 HIEX

D
220 metres / 220 Hiex

RESPONSE A - WRONG Answer Key : B
Q72

What should be added to 1459 so that it is exactly divisible by 12?
1459 H &1 SIS o1 I1feU alfds I% 12 ¥ faegpa favrsa gz

A 3:/3

B 2/2

C

5/5




D 6/6
RESPONSE C - CORRECT Answer Key : C
Q73

If the speed of a boat in still water is 20 km/hr and the speed of the current is 5 km/hr,
then the time taken by the boat to travel 100 km with the current is?
Ife; i uTeit ® U A1a B R 20 ft/deT 8 SfR uRT 1 R 5 fafl/eeT 8, dt a1 &
1Y 100 fotfl &1 g8t T XA B H1d Bl fhd=1 w0g @

A 7 hours /7 He

B 3 hours / 3 ¢

C ;
4 hours / 4 ge

D 3
2hours /2 He

RESPONSE C - CORRECT Answer Key : C
Q74

1200 boys and 800 girls appeared in an examination. If 60% of the boys and 40% of the
girls passed the examination, what is the percentage of candidates who failed in the
examination?
1200 TSP 3R 800 TS pT U Utel H fewars <f | ufe 60% ASH! 3R 40% ASfhal 3
ate Il o, ot ota & Rt e ard SufiaaR) a1 vRiea aaT

A
45% /45 %

B 48% /48 %

C

52%/52%




42% /42 %
RESPONSE B - CORRECT Answer Key : B
Q75
What is the probability of getting an even number when a dice is rolled?
UIT T+ TR T TRSHT UT PR &1 Wifdasdl a1 82
A
1/2/1/2
B
1/5/1/5
c 1/4/1/4
D
1/3/1/3
RESPONSE D - WRONG Answer Key : A
76
Q As per the Economic Survey, what is the estimated economic growth rate in 2023-247
3T T & IR, 202324 FAHIFG e fFprg R e g?
A 6.0%/6.0%
B 6.5%/6.5%
C 70%/7.0%
D 55%/55%
RESPONSE B - CORRECT Answer Key : B
Q77

National Institute of Biologicals is an autonomous institute under which Union Ministry?

W TR AT SIEe 3T Srdiioe e g $dia Haer B agd el 82




Ministry of Health and Family Welfare / TR 3R URaR ST Haey

B ,
Ministry of Science and Technology / fasm 3R Urenfire) Harea
c Ministry of Electronics and IT /mw 3R GrHé_(.Pf
D
Ministry of Chemicals and Fertilisers / XHTd- 3R IdPH HAT
RESPONSE A - CORRECT Answer Key : A
Q78
Integrated Child Protection Scheme was launched in the year?
THIgd I1et &7 ATe] o aY [ I 715 2T
A
2011-2012 / 2011-2012
B
2013-2014 / 2013-2014
C
2015-2016 / 2015-2016
D
2009-2010 / 2009-2010
RESPONSE B - WRONG Answer Key : D
Q79 Which method is acceptable in the following?
fFrafafad # o 3@ fafy wierf 8
A 10 rupee note / 10 ST
B All of these / JURId TH!




c Check / EE7
D Draft / GIUC
RESPONSE B - WRONG Answer Key : A
Q80
Omega Mission Hills World Cup is related to which game?
3er e e fay & frw O wefia 82
A Polo / TYal
B [¥)
Hockey fﬁﬁﬂ
c Golf / e
D Tennis / €9
RESPONSE A - WRONG Answer Key : C
Q81 Which state is hosting a literary fest with tolerance as the core theme?
%ﬁqmmwﬁwﬂsmﬁﬂﬁ%ﬁ%wwmmaﬁmﬁﬁmm
?
A Karnataka / @icd
B
Kerala fﬁﬂﬁ
C
TN/ aﬁ‘la:i g
D AP/ TUL
RESPONSE B - CORRECT Answer Key : B
Q82 The blue colour of the clear sky is due to of light
1B 3BT T el T YHTL & FBRUBATE|
A

Diffraction / fAehIRTT




Refraction / 3{0dd
C Reflection /Wﬂf‘h
D , ,
Dispersion / UHIRU[
RESPONSE C - WRONG Answer Key : D
Q83
The Indian People play people’s role in the people’s war was the slogan of;
YR A1 Sgg B ST Bt yftrest Ry &1RT .
A Indian National Congress / Hﬂfﬂquﬂfﬂ;{
B None of these / 3TH T &5 a1
c The Forward Block f‘fhﬁ@fﬂuﬁ
D Communist Party of lndia/ﬂﬁﬁﬂﬁmm
RESPONSE A - WRONG Answer Key : D
Q84
The writer of Rajatarangini is:
TSR P G &
A
Banbhata / STHdI
B
Abul Fazal / 3dd tholdd
C
Kalhana / g
D
Tulsi Das IWW
RESPONSE C - CORRECT Answer Key : C




85
Q What does eVIN stand for, in the context of digitised vaccine stocks?
fefrergss daiH wiep & Tauf  5fa- S am 9 87
A
Electronic Vaccine Intelligent l%@ﬂijﬁ$ aﬂi‘ﬂqm
B i
Electronic Vaccine Interim Network / Eﬂ'ﬂﬂ?ﬁﬁ I iafkq “ead
C
None of these /sqﬁﬁ a'ﬂ% ﬂ-ﬂ':lﬁf
D ¥ 3
Electronic Vaccine Intelligence Network /mew
RESPONSE D - CORRECT Answer Key : D
Q86 When was the National Deworming day celebrated?
ST S ARl fead e A T
A August-09 / 3ITET-09
B August-12 / 3T¥d-12
C August-10 / 3[TTd-10
D August-11 / 3TT¥d-11
RESPONSE B - WRONG Answer Key : C
Q87
The crude Birth Rate is defined as
IR d o7 &R B 59 UBR R fhar mar g
A
No of births per 50 thousand populations f‘;Iﬁ'T 50 IR SR ORI B T
B
No of births per 20 thousand populations / Ufd 20 BYIR ST TR S Pt HBT




C . .
No of births per thousand populations /‘;Iﬁf EOTR SFEET UR O+ 1 H-AT
D - .
No of births per 10 thousand populations /qﬁ 10 BOIR SIHEBAT R 941 1 G&T
RESPONSE D - WRONG Answer Key : C
Q88
"I am a little pencil in the hand of a writing God who is sending a love letter to the world."
Who said this?
" forgs T SHR & B 1 U BIC-T1 UTIa § off g+ &1 U UH U7 IS @1 8 1" T8
fog &gr?
A O
Walt Disney / dlec &l
B
Kennedy/aﬁ%ﬁ
C
Mother Teresa / HGY o
D
Abraham Lincoln / Wﬁlﬁ
RESPONSE B - WRONG Answer Key : C
Q89 ; - :
Which gas contains in largest volume in our atmosphere
AR agHed A i H 119 wa it A A gl @2
A
Carbon /Wé:?
B Nitrogen FI'EE:'ITIH
c Oxygen / TR
D Argon / 3mA




RESPONSE B - CORRECT Answer Key : B
90
Q Which birth anniversary of former PM Lal Bahadur Shastri was celebrated on October
2nd?
2 ICER &I Yd UTTH ATd F8TgR Wl &1 1 § 9 quTia 718 TS e
A 109th / 109 df
B
110th / 110 df
C 112th /112 df
D 111th/ 111 df
RESPONSE B - WRONG Answer Key : D
91
Q During formation of bread, the product that 'raise' the bread is
AA & Fmfor & SRE, AA A U1 817 aren IS R 8?2
A
Yeast / dRe
B i
Carbon diosxide /Eﬂé‘qm
(3
Water / U1
D .
Bacteria /GﬁﬁTﬂ
RESPONSE B - WRONG Answer Key : A
Q92
The hormone responsible for the secretion of milk in mother is
T & gU AEE & o e smA @ 82
A Leutinising Hormone /aﬁﬁﬁﬂﬁﬁh
B Lactogenic hormone / ddcsl[Hdh gTHIA
C Adrenalin / qé:uiéﬂ




ACTH/ACTH
RESPONSE D - WRONG Answer Key : B
Q93
India is the seventh largest country in the world and occupies
YR i &1 TIdat Tl 991 3 © 3R 39 IR Foal o
A 7% of world area /ﬁ’a’ B BT 7%
B 5% of world area /ﬁ"d &% d BT 5%
c 2 % of world area /ﬁ%’ e d P 2%
D 4% of world area / A% 85T &1 4%
RESPONSE C - CORRECT Answer Key : C
4
Q9 The first woman in space was
3fafver 7 ygeht Afger &t
A Valentina Tershkova / gafe eefpig
B sally Ride / Tl 3g
c Tamara Press / GHIRI g
D Naidia Comenci /?ﬂmﬁﬁﬂ’ﬁ
RESPONSE A - CORRECT Answer Key : A
Q95
Which of the following system is established on the basis of the direct election?
frafafea & & S @ vormedt el gATa & SUR IR RT3t Sl 8?2
A Both Block Committee and Zila Parishad / U1 UTad 31X sdiies WA A1
B

Zila Parishad / fote ufikug




Block Committee /ﬁuﬁ gfafa

D Gram Panchayat / ITH U9Tdd
RESPONSE A - WRONG Answer Key : D
Q96
Elena Rybakina, who eliminated World Number one Iga Swiatek int he Australian Open, is
from which country?
AT YasfE, g fay 9aR ve 3 faae® e o sifeferars oo & g, v
TWAR?
A USA / UHT
B
Japan / SITUH
¢ Kazakhstan / SIG¥IE
D Italy / Zcalt
RESPONSE B - WRONG Answer Key : C
97
Q Which of the following is called primary field?
frofafea & 3 52 mrufis 89 Her s e?
A Agriculture sector / HTY &7
B None of these / 3TH § &8 -Tg|
c Service sector / Hal e
D
Industrial sector / Gh?rﬂﬁla’? z‘aﬁ
RESPONSE A - CORRECT Answer Key : A
Q98

Who has written the book entitled 'India Divided'?

e TRTe e Qe fbem foredt &2




Dr. Rajendra Prasad !?:T.?F@IQ Udla

B
Pandit Madan Mohan Malaviya KU%HW%:[W
c Mahatma Gandhi / HRIHI T eh
D
Lala Lajpat Rai / ATl Slsidd X1
RESPONSE A - CORRECT Answer Key : A
Q 99
In memory of whom is the Madhavpur Mela of Gujarat celebrated?
ToRTd & HILAUR Al fhae! arg & 51 S 82
A Lord Shiva and Parvati / H3TdTH 219 3R urddt
B .
Lord Krishna and Radha / HITdT- W[ 3R men
c Lord Krishna and Rukmini / *RTaT 0T 3iR SiaaI
D Lord Krishna and Draupadi;’WWﬁﬁ?iiqa
RESPONSE B - WRONG Answer Key : C
100
Q Majuli is the world's river island.
be 15 KA S AR AL
A Greenest / BX-HI
B Smallest/ﬂa'@l@‘la[
C Biggest / T T
D Most pollution-free /qaY Heuur Had
RESPONSE C - CORRECT

Answer Key : C






